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L. 1Ny 'v’s observation about 119 "1’s approach
a.  prwam his approach isn’t universal - as he required a w"11 (vv. 1-2) to prove that on%n 'nw »»wan are done on naw
i.  Note: that v must be Mo, else we could challenge it
1. Challenge: even if he finds 1m already cut, must cut new barley;
a.  But: if he finds wheat already cut for onn 'nw, no need to cut
ii. Indeed: v. 3 is superfluous, considering that v. 1 already states nax»an nyn
1. Challenge: " holds that if it is 191 on one side only, may be challenged
2. Answer: Woan (v. 2 in re: onYn 'nw) is a "117
b. Inference: 11 '7's comment implies that X" didn’t allow all 11'wan to trump naw — which are excluded?
i 2512 untrue, as 8™ explicitly allows 1919 »1wan to be prepared on naw
1. Source: v. 4 —pva (can’t be allowing %05v, as that is 1mn anyways; must be allowing wan)
a. 437 understand oy as excluding n%"»
b. A&7 infers that from end of »a — D’ Nyaw

i. 7227 R0 needed, else we might infer o’ nyaw from n210 and obligate night and day - Y"np
c.  However: 2915 could not be a source for the rest as we would challenge — 2% requires 4 species
ii. 720 untrue, as R™ explicitly allows n210 »1»wan to be prepared on naw

1. Source: can’t infer from nnon 'nw/AMy, as they belong to God (max 71¥)
a. And: he can’t infer from 259, as that requires wyn 7
b.  Rather: he infers on’ nyaw::nm nyaw from 19Y (vv. 4-5)
c.  However: 210 could not be a source for the rest as we would challenge — 120 applies night and day
iii. Ayp: untrue, as X" explicitly allows nxn »»wan to be prepared on naw
1. Source: cannot be from onbn "mw/AMY (Max TNY); from 195 (010 "7) or from nNo (day::night)
a.  Rather: he infers via 1wy nwnn: vy nwnn (vv. 6-7) from noo
b. However: nxn couldn’t be a source for the rest as we would challenge - it applies to men and women
iv. 791 untrue, as 8" explicitly allows 191w »wan to be prepared on naw
1. Source: cannot be on>n "Nw/AMY, 2915, 12D or NXN as per above
a. Rather:v. 8 —isn’t permitting ny’pn (which isn’t a NaRYn — per »”127N on "naIRYn") — must be 1PVIN
i 7227 infer “day” and not night from oy
ii. ~”7. infers daytime only from v. 9 (Dv::0v)
b.  However: we cannot infer all from 191w, as n"37 ny’pn “brings mar of 711 to 'n”
i Nor: from 19 of Y2v, as that blast allows slaves to go home and land to return to n’9ya
V. Rather: excludes ntirn & noox (Xn»1a1 — R agrees that if he ties no¥x or affixes nmin at door on naw he is 27n)
1. Reason (9o 37): since they have no set time for performance
a. Challenge (»1N): that’s a reason to allow them on naw — as every moment is 1nt
Vi. Rather (279): because he could disown his garment or house and be exempt (not a r’ayn mxn)
1. Source for permitting 7526 »1wap (in our 73wp): not from others, per unique MmN of each
a. Rather: from v. 10 — 011 — even on nav
b. However: cannot infer the rest from n%mn, as n%n had 13 mn»™a made (I’ NWKRI1)
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II.  Source for nyn itself trumping naw (consensus)
a.  pny 1 Ko navn
i Challenge: y"ar1 infers way mpa as 1"p from n%n (10:10 NIV RNAOIN)
1. But: cannot infer vy from n"n%n
a.  Per: y"arn critique of »™ for his use of vp to infer that 11 violates m1’11 by contact with o7 oy
b. A&7 inferred from mm7 ,n11 MR, written about n’11 and naw
i. Challenge: each of those is written in another mxn which isn’t naw nm7
1. 1732 then naw should even be nnT for an adult (well past his 8t day)
2. W PYanisn’t naw nmiT
3. 77 (making)nowx isn’t naw nmt

ii.  Answer: n»nis only one (along with naw) that uses all three terms
c. /7 v.10 - pva—even on nav
i Challenge (579): then 0723 »01Nn should bring their N117p on naw - they also have "oya” (e.g. »1nvn DY)

1. Answer: there, Dy is used to exclude nighttime
2. Block: in our case, as well, nva excludes n%'n at night
a. Defense: we infer that from on’ nnnw ja
b. Response: we also have ymnx ova (1 81p») that limits n117p to daytime
i. Answer: in spite of ym¥ D11, we need D1 in case of n793 MVINN
1. Reason: since the n1n is lenient and allows “poor” 127p for 2"nn, ®™o it allows night — Y"np
2. Challenge (»82737): if so, perhaps a 7t or 1R could also participate in 7793 »oNN 129p
a. Answer: the text “restored” 3™nn to the normal standard via oy»a
d. 7Y 72 RNIN 77.0NY — even Nava
i. Challenge: »»nw needed to exclude '»aw (we don’t perform n%n on naw before 8" day)
1.  Answer: "»7aw is blocked out via o'n’ nnnw j1a
2. Defense: one blocks out '»av, the other excludes »wn
a. And: cannot infer exclusion of '»»»wn from »»1v, as his time already came
i. Therefore: we prefer 1N '7’s answer
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